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1. Which is the outermost structure of cell wall 

 (A) Primary wall (B) Secondary wall   

 (C) Tertiary wall (D) Middle lamella, if present. 

2. The efferent part of neuron is 

 (A) Axon  (B) Dendrite  

 (C) Cyton   (D) Both A and B 

3. Hardness of woody tissue is due to 

(A) Silica (B) Lignin (C) Cellulose (D) Suberin. 

4. Protoplasm is 

(A) Alveolar   (B) Granular   

(C)Fibrillar  (D) Crystallo-colloidal. 

5. Golgi apparatus receives biochemicals with the help of 

transition vesicles formed by 

(A) E. R.  (B) Plasmalemma  

(C) Lysosomes (D) Nuclear blebs. 

6. Power houses of the cell are 

(A) ATP  (B) Lysosomes   

(C) Mitochondria (D) Chloroplasts. 

7. Leucoplasts are present in 

(A) Green Cells  

(B) Pigmented cells other than green 

(C) Non-pigmented cells  

(D) Both A and B 

8. Plastids contain 

(A) Double membrane covering 

(B) DNA, RNA and ribosomes 

(C) Lamellae      

(D) All the above. 

9. Pattern of organisation of eucaryotic cilia and flagella is 

(A) 9 + 0 (B) 9 + 1 (C) 9 + 2 (D) 9 + 1  

10. Valency of Zn is  

(A)  + 2 (B) + 3 (C)   + 1 (D) – 2 

11. No. of electron in outer most shell of  Na
+
, K

+
,Cl

–
 is   

(A) 1,1,1 (B) 1,1,7 (C) 1,1,8 (D) 8,8,8 

 

1. dksf’kdk fHkfRr dh ckgjh lajpuk dgykrh gS 

(A) izkFkfed fHkfRr (B) f}fr;d fHkfRr   

(C) rr̀h;d fHkfRr (D) e/; ifV~Vdk 

2. U;qjksu dk viokgh Hkkx gSA 

(A) ,DlkWu  (B)  MsUMªkbV  

(C) lkbVkWUk`  (D) A vkSj B nksuksa 

3. dk"B mRrd dh dBksjrk gksrh gS 

(A) flfydk  (B)  fyXuhu   

(C) lSY;qyksl  (D) lqcsfju 

4. izksVksIykTe gS 

(A) ok;oh;  (B) xzafFky  

(C) rarqe;  (D) fØfLVy dksyksbM 

5.  xkYthdk; iqfVdkvksa }kjk tSo jklk;fud inkFkZ xzg.k djrh gS tks 

fufeZr gksrh gSA 

(A) var%nzO;h tkfydk (B) IykTekysek  

(C) ykblkslkse  (D) dsUnzd iqfydk 

6.  dksf’kdk dk ikoj gkml dgk tkrk gS 

(A) ATP  (B) ykblkslkse   

(C)  (D) Dyksjks IykLV 

7.  Y;wdksIykLV fLFkr gksrs gSa& 

(A) gfjr dksf’kdk esa (B) o.kZd dksf’kdk esa 

(C) vo.kZd dksf’kdk esa (D) a rFkk b 

8. yod esa gksrk gS 

(A) nks f>Yyh vkoj.k (B) DNA, RNA ] rFkk jkbckslkse 

(C) ySfeyh  (D) mijksDRk lHkh 

9.  ;qdsfu;kfrd esa i{ekHk o d{kkHk dk Øe gksrk gS 

(A) 9 + 0  (B) 9 + 1   

(C) 9 + 2  (D) 9 + 1  

10. Zn ] dh oSyUlh gS& 

(A)  + 2 (B) + 3 (C)   + 1 (D) – 2 

11. Na
+
, K

+
,Cl

–
  ds ckg~;re dks’k esa bysDVªkWu dh la[;k gksxh&  

(A) 1,1,1  (B) 1,1,7  

(C) 1,1,8  (D) 8,8,8 

 



ALL INDIA PROFICIENCY OXYOPIA (AIPO) -2015 

AIPO-2015 SECOND ROUND (Inter School Round)        Page: 9/B-2 
 

12. No. of neutron in I
–
 , O2

–
 , F

–
 , is I

–
 ,  

(A) 53, 10, 9 (B) 54, 10, 10 (C) 53, 8, 9 (D) 54, 10, 7 

13. During summer, water kept in an earthen pot becomes cool 

because of the phenomenon of - 

(A) Diffusion  (B) Transpiration   

(C) Osmosis  (D) evaporation 

14. Two chemical species X and Y combine together to form a 

product P which contains both X and Y 

X + Y   P 

X and Y cannot be broken down into simpler substances by 

simple chemical reactions. Which of the following 

concerning the species X, Y and P are correct ? 

P is a compound 

X and Y are compounds 

X and Y are elements 

P has a fixed composition 

(1) (i), (ii) and (iii) (2) (i), (ii) and (iv)  

(3) (ii), (iii) and (iv) (4) (i), (iii) and (iv) 

15. A few substances are arranged in the increasing order of 

‘forces of attraction’ between their particles. Which one of 

the following represents a correct arrangement ?  

(A) Water oxygen , air (B) Air, sugar, oil   

(C) Oxygen, water, sugar (D) Salt, juice, air 

16. Select the one that when used would be considered as best 

condition for liquification of a gas.  

(A) Increasing the temperature.  

(B) Decreasing the pressure.  

(C)Increasing the pressure and decreasing the temperature.  

(D)Decreasing the pressure and increasing the 

temperature. 

17. The gas you use in kitchen is called liquified petroleum gas 

(LPG).In the cylinder, it exists as a liquid. When it comes out 

of the cylinder, it becomes a gas (process A), then it burns 

(process B). Choose the correct statement.  

(A) Process A is a chemical change.  

(B) Process B is a chemical change. 

(C) Both processes A and B are chemical change.  

(D) None of these processes is a chemical change.  

18. Releasing ball from a height of 1 km. find its final velocity. 

(A) 1.41 m/sec (B) 14.1 m/sec  

(C) 141 m/sec (D) None 

19. A boy throws a ball up to a height of 2 km. with what 

velocity ball is thrown. 

(A) 100 m/sec (B) 200 m/sec  

(C) 0.200 m/sec (D) None 

20. A ball touches the top of a building in 4 sec. find the height 

of the building. 

(A) 20 m (B) 40 m (C) 60 m (D) 80 m 

12. I
–
 , O2

–
 , F

–
 , I

–
  ] esa bysDVªku dh la[;k 

(A) 53, 10, 9 (B) 54, 10, 10 (C) 53, 8, 9 (D) 54, 10, 7 

13.  xehZ ds fnuksa esa eVds esa j[kk ikuh vf/kd BaMk fuEu esa ls fdl 

dkj.k gksrk gS& 

(A) folj.k  (B) Vªkalihjs’ku  

(C) vkWleksfll  (D) ok"ihdj.k 

14.   nks vfHkdkjd X rFkk Y feydj mRikn P cukrs gSaA ftlesa X rFkk 

Y nksauksa mifLFkr gSa 

X + Y   P 

X  rFkk  Y  dks lkekU; jklk;fud fØ;k ds }kjk ugha rksMk+ tk 

ldrk. X, Y  rFkk P  ds fy;s lR; gS? 

P  ],d ;kSfxd gS 

X  o  Y  ;kSfxd gSa 

X  o Y  rRo gSa 

(iv)    P  dk ,d fuf’pr vuqikr gS 

(1) (i), (ii) o (iii) (2) (i), (ii) o (iv)  

(3) (ii), (iii) o (iv) (4) (i), (iii) o (iv) 

15. dqN mRikn muds v.kqvksa ds e/; yxus oky vkd"kZ.k cy ds c<+rs 

Øe esa O;ofLFkr fd;s x;s gS? fuEu esa dkSu mudk lgh Øe iznf’kZr 

djrk gSA 

(A) ty] vkWDlhtu] gok (B) gok] phuh] rsy  

(C) vkWDlhtu] ikuh] phuh (D) ued] twl]gok 

16. xSl dk nzohdj.k djus gsrq mi;qDr izfØ;k gS.  

(A) rki dk c<+kuk 

(B) nkc dk ?kVkuk 

(C) nkc c<+krs gq, rki ?kVkuk 

(D) nkc ?kVkrs gq, rki c<+kuk 

17.  ?kjksa esa jlksbZ ?kj esa flysUMj esa iz;ksx dh tkus okyh nzohHkwr 

isVªksfy;e xSl   (LPG) o tks nzo voLFkk esa gksrh gS tc ;g flysUMj 

ls Ckkgj vkrh gS rks xSl cu tkrh gS  (izfØ;k  A), o mlds ckn 

ty tkrh gS (izfØ;k  B). lgh dFku gS 

(A) izf  A jklk;fud ifjorZu gS  

(B) izfØ;k B jklk;fud ifjorZu gS 

(C) nksuksa vfHkfØ;k;sa jklk;fud ifjorZu gS 

(D) dksbZ Hkh jklk;fud ifjorZu ugha gS 

18.  ,d xsan dks 1fdeh dh m¡pkbZ ls fxjk;k tkrk gS rks mldk vafre 

osx gksxk&  

(A) 1.41 m/sec (B) 14.1 m/sec  

(C) 141 m/sec (D) None 

19.  ,d yM+dk ,d xsan dks 2 fdeh mapkbZ ij Qsadrk gSA Qsadrs le; 

xsan dk osx gksxk& 

(A) 100 m/sec (B) 200 m/sec  

(C) 0.200 m/sec (D) None 

20. ,d xsan fdlh bekjr ds 'kh"kZ dks 4 ls- esa Nwrh gS bekjr dh mapkbZ 

gksxh& 

(A) 20 m  (B) 40 m  

(C) 60 m  (D) 80 m 
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21. Time of flight would be 

(A)  
   

 
 (B) 

     

 
 (C)  

   

 
 (D) None 

22. Which one would be more. 

(A) time of Ascent (B) time of Desecent  

(C) Both are equal (D) None. 

23. A ball is thrown with a velocity of 60 km/hr. find its time of 

descent. 

(A) 1.33 sec (B) 2.33 sec (C) 3.33 sec (D) None 

24. When on object is moving with a velocity of 70 m/sec and 

taken 20 sec to stop at destination. find its retardation ? 

(A) 3.5 m/sec
1
 (B) –3.5 m/sec

2
 (C) 2.5 m/sec

2
  (D)2.5 m/sec

2
 

25. A car is coming down from hills with an accelaration of 20 

cm/sec
2
 and taken 15 sec to come at rest. Find its velocity 

with which it is coming down. 

(A) 3 m/sec (B) 0.3 m/sec (C) 30 m/sec (D) None1.  

26.  Rational number between √  and √   is :  

(A)
 √  √ 

 
 (B) 

√ √ 

 
 (C) 1.4 (D) 1.5 

27. If x is the recurring 0.   ̅̅ ̅̅ ̅, then x
1/3 

in the recurring decimal is: 

(A) 0. ̅ (B)  0. ̅ (C) 0. ̅ (D)  0. ̅ 

28. If (  
 

 
)

2 
and a > 0, then a

3
+
 

  
 is equal to : 

(A) 4 (B) 3 (C) 5 (D) 6 

29. Find the value of 
 

  √  √ 
 

 

  √  √ 
  is : 

(A)  Zero (B) 1 (C) –1 (D) 2 

30. If P = 2
2/3 

+ 2
1/3

, then : 

(A) P
3
 – 6P + 6 = 0 (B) P

3
 – 3P – 6 = 0  

(C) P
3
 – 6P – 6 = 0 (D) P

3
 – 3P + 6 = 0 

31. If   
 

 
   , write the value of 

  

      
 is : 

(A) 1 (B) 1
 

 
 (C) 6 (D) 

 

 
 

32. If a + b + c = 0, then the value of 
  

  
 
  

  
 
  

  
 is : 

(A) 1 (B) 3 (C) –1 (D) Zero 

33. If 
   √ 

   √ 
    √  , then : 

(A) a = –11, b =– 6 (B) a = –11, b = 6   

(C) a =11, b = – 6 (D) None of these 

34. The graph of the line x + y = 0 always passes through : 

(A) x–axis  (B) y–axis  

(C) origin  (D) None of these 

35. If x
45

 +1 is divided by x
5
 + 1, then the remainder will be : 

(A) Zero (B) 1 (C) –1 (D) 211.  

36. If p = x
1/3 

+ x
–1/3

 , then p
3
 – 3p is equal to: 

(A) 
 

 
(x+x

-1
)  (B) (x + x

–1
) (C) x–1 (x

2
 + 1) (D) 2(x + x

–1
) 

37. If (x
2
 – 1) is a factor of ax

4
 + bx

3
 + cx

2
 + dx + e, then which of 

the following is correct? 

(A) a + c + e = b + d (B) a + b + e = c + d  

(C) a + b + c + d + e = 0 (D) a + c + e = 0 

21. mM~M;u dky dk lw= gS& 

(A)  
   

 
 (B) 

     

 
 (C)  

   

 
 (D)  

22.  buesa ls dkSu vf/kd gksxk 

(A) mapkbZ rd tkus dk le; (B) okil vkus dk le;  

(C) nksauksa cjkcj  (D) dksbZ ugha 

23.  ,d xasn dks 60fdeh@?kaVk osx ls Qsadk tkrk gS mlds okil ykSVus 

dk le; gksxk& 

(A) 1.33 sec (B) 2.33 sec  (C) 3.33 sec (D)  

24. ,d oLrq 70 eh@lsa- ds osx ls pyjgh gS vkSj 20 ls- ckn #d 

tkrh gS mldk eanu gksxk ? 

(A) 3.5 m/sec
2 

 (B) –3.5 m/sec
2
 

(C) 2.5 m/sec
2
 (D) 2.5 m/sec

2
 

25.  ,d dkj 20 lseh@ls +
2 
ds Roj.k ls fdlh igkM+h ls uhps vk jgha gS vkSj 

15 ls- esa uhps vkdj #d tkrh gSAykSVrs le; mldk oSx gksxk& 

(A) 3 m/sec (B) 0.3 m/sec (C) 30 m/sec (D)   

26.  √   o  √    ds e/; ifjes; la[;k gSa&  

(A)
 √  √ 

 
 (B) 

√ √ 

 
 (C) 1.4 (D) 1.5 

27.  ;fn  x = 0.   ̅̅ ̅̅ ̅, rks  x
1/3 

 dk n’keyo esa eku gksxk 

(A) 0. ̅ (B)  0. ̅ (C) 0. ̅ (D)  0. ̅ 

28.  ;fn  (  
 

 
)

2 
 o  a > 0, rks  a

3
+
 

  
= ? 

(A) 4 (B) 3 (C) 5 (D) 6 

29. 
 

  √  √ 
 

 

  √  √ 
   ] dk eku Kkr djks : 

(A)   (B) 1 (C) –1 (D) 2 

30. ;fn  P = 2
2/3 

+ 2
1/3

] rks : 

(A) P
3
 – 6P + 6 = 0 (B) P

3
 – 3P – 6 = 0  

(C) P
3
 – 6P – 6 = 0 (D) P

3
 – 3P + 6 = 0 

31. ;fn    
 

 
   , ] rks 

  

      
  = ? 

(A) 1 (B) 1
 

 
 (C) 6 (D) 

 

 
 

32. ;fn  a + b + c = 0,  ] rks  
  

  
 
  

  
 
  

  
  =? 

(A) 1 (B) 3 (C) –1 (D)  

33. ;fn  
   √ 

   √ 
    √  , ] rks & 

(A) a = –11, b =– 6 (B) a = –11, b = 6   

(C) a =11, b = – 6 (D)  

34. x + y = 0 ] dk js[kh; xzkQ lnSo xqtjsxk: 

(A) x–axis  (B) y–axis  

(C) ewy fcUnq ls (D) buesa ls dksbZ ugha 

35. ;fn  x
45

 +1 ] dks x
5
 + 1 ]ls Hkkx fn;k tk;s rks 'ks"kQy gksxk : 

(A) 'kqU; (B) 1 (C) –1 (D) 211.  

36. ;fn  p = x
1/3 

+ x
–1/3

 , rks  p
3
 – 3p = ? 

(A) 
 

 
(x+x

-1
) (B) (x + x

–1
) (C) x–1 (x

2
 + 1)(D) 2(x + x

–1
) 

37. ;fn  (x
2
 – 1), ax

4
 + bx

3
 + cx

2
 + dx + e, dk xq.ku[k.M gS rks fuEu 

esa ls dkSulk dFku lgh gS& 

(A) a + c + e = b + d (B) a + b + e = c + d  

(C) a + b + c + d + e = 0 (D) a + c + e = 0 
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38. Solve : √   
 

x√
    

 

 
x√

 

  

 
 

(A)√(
 

    
) (B) (

 

  
) (C)  {√(

 

 
)
   

}

   

 (D) (x
–2

)
–1/2

 

39. Which of the following statement is/are correct? 

(A) Every integer is a rational number  

(B) Every natural number is an integer 

(C) Every natural number is a real number  

(D) Every real number is a rational number 

40. Simplify : (
                

            
   

            

        
) 

(A) 12 (B) 10 (C) (
 

 
)
  

 (D) (
 

  
)
  

  

COMPREHENSION  

It is given that when polynomials p(x) = x
3
 + ax

2
 + 3x + 2 and 

q(x) = 2x3 + 3x2 – 4x – 7 are divided by  x – 1, the 

remainders obtained in each case are equal.  

41. What is the value of ‘a’ for polynomial p(x)  

(A) a = 12 (B) a = – 12 (C) a = 0 (D) a = 6 

42. What should be subtracted from polynomial p(x) so as to 

make remainder zero : 

(A) 8 (B) – 8 (C) 6 (D) – 6 

43. If polynomial p(x) + q(x) is divided by x – 1, the remainder 

obtained is:  

(A) 6 (B) 7 (C)– 12 (D) 4 

44. √  √   = ? 

(A) 0.5 (B) 0.7 (C)– 1 (D)  None 

45. √   = ? 

(A) 1.732 (B) 1.141 (C) 1.414 (D) 1.327 

46. What is the area of an equilateral triangle having its side as 

b cm ? 

(A)
 √   

 
 (B) 

   

 
 (C) 

  

 
 (D) 

   

 
  

47. If each side of a triangle is doubled, then what will be the 

percentage increase in its area ? 

(A) 200% (B) 300% (C) 400% (D) 100% 

48. A square and an equilateral triangle have equal perimeters. 

If the diagonal of the square is 12√ cm., then area of 

triangle is - 

(A) 24√ cm
2
  (B) 48√ cm

2
  

(C) 24√ cm
2
   (D) 64√ cm

2
 

49. The base of an isosceles right triangle is 15 cm. Final its 

area ? 

(A) 225 cm
2
 (B) 225√ cm

2
 (C) 112.5 cm

2
 (D) 30 cm

2
 

50. The length of each side of an equilateral triangle of area  

4√ cm
2
 is - 

(A) 4 cm (B)  
 

√ 
cm (C) 

√ 

 
cm (D) 3 cm 

 

38. √   
 

x√
    

 

 
x√

 

  

 
  = ? 

(A)√(
 

    
) (B) (

 

  
) (C)  {√(

 

 
)
   

}

   

 (D) (x
–2

)
–1/2

 

39. fuEu esa ls dkSulk dFku lR; gS& 

(A) izR;sd iw.kkZad ,d ifjes; la[;k gS  

(B) izR;sd izkdr̀ la[;k ,d iw.kkZad gS 

(C) izR;sd izkdr̀ la[;k ,d okLrfod la[;k gS 

(D) izR;sd okLrfod la[;k ,d ifjes; la[;k gS 

40. gy djks  (
                

            
   

            

        
) 

(A) 12 (B) 10 (C) (
 

 
)
  

 (D) (
 

  
)
  

  

dFku&   

fn;k x;k gS fd cgqin p(x) = x
3
 + ax

2
 + 3x + 2 ] o  q(x) = 2x3 + 

3x2 – 4x – 7, x – 1 ] ls foHkkftr fd;s tk;s arks nksuksa 'ks"kQy 

leku gSa&  

41. p(x) ] ds fy;s  ‘a’ dk eku gksxk 

(A) a = 12  (B) a = – 12  

(C) a = 0  (D) a = 6 

42. cgqin p(x) esa ls fUkEu es ls D;k ?kVk;k tk;s dh 'ks"kQy 'kqU; gks& 

(A) 8  (B) – 8  

(C) 6  (D) – 6 

43. cgqin p(x) + q(x) ] dks x – 1 ] ls foHkkftr fd;k tkus ij 'ks"kQy 

gksxk&  

(A) 6 (B) 7 (C)– 12 (D) 4 

44. √  √   = ? 

(A) 0.5 (B) 0.7 (C)– 1 (D)  dksbZ ugha 

45. √   = ? 

(A) 1.732 (B) 1.141 (C) 1.414 (D) 1.327 

46.  ;fn leckgq f=Hkqt dh Hkqtk 9 lseh gS rks {ks=Qy gksxk? 

(A)
 √   

 
 (B) 

   

 
 (C) 

  

 
 (D) 

   

 
  

47. ;fn f=Hkqt dh izR;sd Hkqtk dks nqxquk dj fn;k tk;s rks blds 

{ks=Qy esa fdruh o`f) gks tk;sxh? 

(A) 200%  (B) 300%  

(C) 400%  (D) 100% 

48. ,d oxZ rFkk ,d leckgq f=Hkqt dk ifjeki leku gSA ;fn oxZ dk 

fod.kZ 12√ cm.  rks f=Hkqt dk {ks=Qy gksxk - 

(A) 24√ cm
2
 (B) 48√ cm

2
  (C) 24√ cm

2
  (D) 64√ cm

2
 

49.  ;fn fdlh lef}ckgq f=Hkqt dk vk/kkj 15 lseh gS rks bldk 

{ks=Qy gksxk& 

(A) 225 cm
2
  (B) 225√ cm

2
   

(C) 112.5 cm
2
 (D) 30 cm

2
 

50. fdlh leckgq f=Hkqt dk {ks=Qy 4√ cm
2
  ] gS rks bldh Hkqtk 

gksxh& 

(A) 4 cm (B)  
 

√ 
cm (C) 

√ 

 
cm (D) 3 cm 


